t}-& oA AB = BC = CD °o|1
/CDE = 120° 9 o], ,CAB 9] 27|
stofat,

i
o

vV V¥

e 30°

120°

DE

/CBD = /CDB = 60°,
/ABC = 180° - 60° = 120°
. LCAB = (180° - 120°) + 2 =30°




2. o2 199 AABC oA AB = AC, /BAD = /CAD ©|t}. CD ¢
Zole}t /ADC 9] 27]E oozt

A
(10D
B C
~5em”D
» = cm
> E: °
[>ZHg: CD=5 cm
[> ®eh: ZADC =90 °
A7+ o] 2| ZH9] o] T RS WS #Z o] FEItt),

=BD = 5(cm), ZADC = 90°




3.

ohg Tl x o ol Fatelat

(ACB = 70° | B2 AABC £ o] Szt o},

s x=4(cm)

ofll




o}, /BAC =70°

@ ‘ABC @):acB ® (EAC

Zo]l5 HJoervg /BAC = /DAC = 70° ©|t}. /DAC =
(ACB (91Z}) o]t}
w2t /BAC = /ACB ©]t}.




5.

th2 I3 Zo] BA = BC ¢l o] 5942 BAC oAl /BAD =

126° 4 of, /BCA o] 371=9

D~ 126°

\VARR 4
X
L

54°

(BAC = 180° — 126° = 54°
ABAC £ o] 58z Yol n2
/BCA = /BAC = 54°




o} 195} Zo] AB = BC 9l oS #4H2HE ABC oAl /A = 27°
o ), x ] aﬂt

@se @ 56° ® 58° @ 60° ® 62°

Lx = 27° + 27° = 54°




7.

BA = BC?l o] 5HAAE N4 CA=CD7t H=% J D&

ol Feket. x 8] 271=7?
A

@)so° @ 55° @ 60° @ 65°

® 70°

H AB

~&B

AACD 7} o] 5z gol g

/CAD = 65°

T AABCE BA = BC9l o] 5HAZIg o]l B2
" /x = 180° — 2 X 65° = 50°




& 199 AABCOA], AB = AC, B = 60°°]1l, ZF2|Z}to] o] 51
Aol W} vhil Hg petal & ), BAD O] 27

W
B

A

-
Q

@30° @450 @° @8 G 90

B )

AABC oA

AB = ACo|BZ o] 57
TSH /A =180°-(60°
webx] AABCE AAtzd
B2 /BAD = 30°°|t}.

HZrolal, C =60° ]t
+60°) = 60°°|ct.
Folil /BAD+ LAE °] &S 4]




9.

o7t 22 AABCOA AB = AC = 8cm & ],

/xQ 3717

@40° @ 45° ® 50°

@ 55°

® 60°

AABC = o] 5HAZA ol nR
(ACB = T70°
kA x = 180° -2 x 70° = 40°




10. & 18X AD=BD=CD o] B=40° ¥ o, zx & 37|17

A

x

O 40° @ 45° 3)50° @ 55° ® 60°

B )

/B = /BAD = 40° o]B.&
LADC = 40° + 40° = 80°

1
o 2x = 5(180° — 80°) = 50°




11. oS a4 aABC &= AB = AC ¢l o|5¥AZ o
BD =BC ¢ o, zx 9] 27]&?
A
36>
B C
B 44° @ 46°

@36° @ 40°

®

30°

[7}go| B2 /A = /ABD = 36°

AABD £ o]5H47Z
/BDC = 36° 4 36° = 72°

ABDC E‘ O] L= eyl
. Zx = 180° — 72° — 72° = 36°

HAZI ol B2 /BDC = /BCD = 72°




12.

AABC 4] /B =

/PBC =[ (0 szfgx\ (ﬁ}) -]

wkeba] aPBC [ (3 | oltt,

Oh ~ Ehell E1Z Aoz 2] -2 227

® @® «C @ (@) .PCB




13. o5 234 AB = DC,AC = DB 181 /BOC = 84° & 0,
(OBC 9] 7] Fatofzt.

>

D

L
o

>
[> ®eh 48°

~&B

AABC = aDCB (SSS &%)
/ACB = /DBC

T2hA AOBC += o] 54zt g olth.
2. £OBC = (180° — 84°) + 2 = 48°




14. os2 A Wz 2717 22 A2 2 A2

o]t

B C
AABC 9|4 /B = /C o|BR &
AB=| (4} Q
/A =] () |e]22 BA=BC - -©
@, A | (7h

® AB=BC=CA,AC, /B
@)AB-BC=CA,AC, «C
® (A=/B=/C,BC, (A

@® /A =/B=:.C,BC, /C

® /A=/B=/C,AC, /C

~&B

AABC oA /B = /ColE&2
AB=(AC).---0

(A= (/C)°]E2BA=BC---O
@,014 (AB=BC=CA)
webA AABC = A4tz ol




|—l
ot
I
-

©
o
st
o\

o] & tha 13t Zo] Hlrt. sx & A7|E Fotoizt.

vV Vv
0x
i

30 °

~&B

(EBC=/ACB = «u« (A
(EBC = /ACB = /ABC = /x
Wzte] 2717t o= olFH
180°, zx = 30° ©|tt.

Z1
7}
Ak
=]

) %
et

ZF o] al 120° + /x + /x =

o] £

X—IOJODE

=

2tA AABC 7}




16. thg 133 Zo] Zo] A3 Fo] Hlo|ZE MUt /CAD = 75°
A off, /x 2] A7]=?

@ 20° @ 25° @30° @ 35° ® 40°

(DAC = (CAB = 75° (¥°]
(DAC = /ACB = 75° (97}
et AABCE BZte] 37]71 75°0]1, AB = BCSl ©]5#
Azr el

. /x=180°-T75°-"75°=30°

o] e 7




17.

@O AAPQ = AACQ

@
® (PAQ = /CAQ @pra-ac-qB
® (APQ =90°

< HO 2
AACQ, AP = AC, (PAQ = LCAQ, /APQ =




18.

® AABD £ o]|5HMTE

o&

@ AC 7} 5cm € @, BD = 5cm ©]t.

TR 2L AABC 14 AC = CD 9 u, A
591 4% BE 2R /f\
1 600
B D T C
@ /ADC =50°
© A=90°
© £ABD =40°

® 6,0 @ 0 ® ®a, e
@ 3, @ ® © e

B

AADC 9|4 AC =CD 0|2 =&

—_

/CAD = /CDA = = x (180° - 60°) = 60°

wa2kA AADC = ZAZFg ol

/BAC =30°+60°=90°

w2k AABC 9|4 LABC = £ABD = 30° ©]t}.
/BAD = /ABD = 30° |22 AABD £ o]|5HA7HY
AADC & AAFZ}g o]l AABD £ o] SHAZ ol B g
CD =AD =BD

wbA] AC 7} 5em € ©f, BD = 5¢m ©| o

[N)




19. o2 183} Zo] AC = BC ¢l AABC ©f|A] ¥ A
AC AFA o A F E Fol F & AUHA AB
of =291 2] Aol ¥ AB , ¥ BCe} ¥t He
ZYZy D, E olgt @ o, th2 & &2 A7
C
D
E
B F

@ (ECF = zx o]t}
@ CE = EF °]t}.
@) aCEF & ol5 WAz o),
@ /DBE ¢] 37]%= /BED ¢} 3}Af e},
® AD 9] dol=DF 9] Zo|et 4 .

@ AC = BCo|E& AABCE o|5HArZIg o]t}

. LABC = /x

(BCF = 2/x = tECF

@, ® AADF oA Z/AFD = 90° — /x,

LCEF = 180° — (24x+90° — zx) = 90° — zx

w2k ACEF & o] 5H4rZgolct,

@ ABDE|A] /DBE = /x°]1 /BED = 90° — /x°|E 2

£x = 45°7} obd wfef= thact,
Je52 g4 AL gt
£x = 45°7} obd o= thet,
q9BE P4 o SHAAF 3
Yo},

DF ¢ Zol= &4 A=

[e)

A

ol |

.‘|

&94

® aADF oA /AFD = 90° — /x o]l

ohym g

(DAF = /xo|B =2

AD 9] Zoj¢t




20. O I8 /B =CA ALY ABCEHATH C 2=
A& Aolt}, /DCB = 25° 4 W, LA ©] =27|S Fslozt,

> £ °
> mer: 20
5o

S5 ~
/A = /x 2} 51H

(DCE = /A = /x

(B =/C=/x+25°

AABC oA Al HjZte] 271 9] 92 180° o] B =

Lx + 2(4x + 25°) = 180°

_130°

3/x =130°, £
X X 3

_130°

LA
3




